
CHEMISTRY

BOOKS - KALYANI CHEMISTRY (ENGLISH)

ISC QUESTION PAPER

Part I

1. Calcium acetate on heating gives ___ which gives__

on heating with iodine and sodium hydroxide

solution.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yiMpqdNOfO6F


2. On dilution of a solution, its specific conductance -

while its equivalent conductance ____

Watch Video Solution

3. Sucrose is a ______ and yield upon hydrolysis, a

mixture of ___and fructose,

Watch Video Solution

4. The more ............. the standard reduction potential of

a metal, the ......... is its ability to displace hydrogen

https://dl.doubtnut.com/l/_yiMpqdNOfO6F
https://dl.doubtnut.com/l/_o5qCJnpsFxNz
https://dl.doubtnut.com/l/_TAy10ejtoMB6
https://dl.doubtnut.com/l/_PnVFJZynZyJx


from acids.

Watch Video Solution

5. An aqueous solution of is ____due to

_____

Watch Video Solution

CH3COONa

6. In a face centered cubic lattice, atom (A) occupies

the corner positions and atom (B) occupies the face

centre positions. If one atom of (B) is missing from

one of the face centered points, the formula of the

compound is :

https://dl.doubtnut.com/l/_PnVFJZynZyJx
https://dl.doubtnut.com/l/_b7ahkEaB4Wd2
https://dl.doubtnut.com/l/_MfKaBD3N25uR


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

A2B5

A2B3

AB2

A2B

7. The half-life period of a first order reaction is 20

minutes. The time required for the concentration of

the reactant to change from 0.16 M to 0.02 M is :

A. 80 minutes

https://dl.doubtnut.com/l/_MfKaBD3N25uR
https://dl.doubtnut.com/l/_Jw2f2ouvoJpz


B. 60 minutes

C. 40 minutes

D. 20 minutes

Answer:

Watch Video Solution

8. For a spontaneous reaction  and  cell will

be respectively :

A. 

B.  and -ve

C. 

ΔG∘ E ∘

−ve and + ve

+ve

+ve and + ve

https://dl.doubtnut.com/l/_Jw2f2ouvoJpz
https://dl.doubtnut.com/l/_HoYxArMHd9YW


D. 

Answer:

Watch Video Solution

−ve and − ve

9. The conjugate acid of  is:

A. 

B. 

C. 

D. 

Answer:

HPO
2 −
4

H3PO3

H3PO4

H2PO
−
4

PO
3 −
4

https://dl.doubtnut.com/l/_HoYxArMHd9YW
https://dl.doubtnut.com/l/_Yim9AmHLX6wa


Watch Video Solution

10. The polymer formed by the condensation of

hexamethylenediamine and adipic acid is :

A. Teflon

B. Bakelite

C. Dacron

D. Nylon-66

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Yim9AmHLX6wa
https://dl.doubtnut.com/l/_pbgJYUu5RBb2
https://dl.doubtnut.com/l/_LIqpWUprGILF


11. Answer the following questions : 

Why the freezing point depression ( ) of 0.4M

NaCl solution is nearly twice than that of 0.4M

glucose solution ?

Watch Video Solution

ΔTf

12. Identify the order of reaction from each of the

following units of rate constant (k) :

 (b) 

Watch Video Solution

(a)moleL− 1 sec− 1 Mol− 1 sec− 1

https://dl.doubtnut.com/l/_LIqpWUprGILF
https://dl.doubtnut.com/l/_10dirMB0brhp


13. Specific conductivity of 0.20 M solution of KCl at

298 K is . Calculate its molar conductivity.

Watch Video Solution

0.025Scm− 1

14. Name the order of reaction which proceeds with a

uniform rate throughout.

Watch Video Solution

15. What are the products formed when phenol and

nitrobenzene are treated separately with a mixture of

https://dl.doubtnut.com/l/_YprNEY1mJ2um
https://dl.doubtnut.com/l/_LwbpNkRgKXPW
https://dl.doubtnut.com/l/_pmWU4HdBbLl0


concentrated sulphuric acid and concentrated nitric

acid ?

Watch Video Solution

16. Calculate the molecular mass of ammonia ?

Watch Video Solution

17. Calcium acetate on heating gives ___ which gives__

on heating with iodine and sodium hydroxide

solution.

Watch Video Solution

https://dl.doubtnut.com/l/_pmWU4HdBbLl0
https://dl.doubtnut.com/l/_cWBZciysI4jo
https://dl.doubtnut.com/l/_QpghehKFS1UC


18. On dilution of a solution, its specific conductance -

while its equivalent conductance ____

Watch Video Solution

19. Sucrose is a ______ and yield upon hydrolysis, a

mixture of ___and fructose,

Watch Video Solution

20. The more ............. the standard reduction potential

of a metal, the ......... is its ability to displace hydrogen

from acids.

https://dl.doubtnut.com/l/_OZl1HTrjqiX7
https://dl.doubtnut.com/l/_1SiSH8IrSJWW
https://dl.doubtnut.com/l/_a6SYdOSwCWue


Watch Video Solution

21. An aqueous solution of is ____due to

_____

Watch Video Solution

CH3COONa

22. In a face centred cubic lattice, atom A occupies the

corner positions and atom B occupies the face centre

positions. If one atom of B is missing from one of the

face centred points, the formula of the compound is:

A. A2B5

https://dl.doubtnut.com/l/_a6SYdOSwCWue
https://dl.doubtnut.com/l/_ZwGwT8FUppcO
https://dl.doubtnut.com/l/_vqel2vlSzoob


B. 

C. 

D. 

Answer:

Watch Video Solution

A2B3

AB2

A2B

23. The half-life period of a first order reaction is 20

minutes. The time required for the concentration of

the reactant to change from 0.16 M to 0.02 M is :

A. 80 minutes

B. 60 minutes

https://dl.doubtnut.com/l/_vqel2vlSzoob
https://dl.doubtnut.com/l/_obm5w1SqXxUe


C. 40 minutes

D. 20 minutes

Answer:

Watch Video Solution

24. For a spontaneous reaction  and  cell will

be respectively :

A. 

B.  and -ve

C. 

D. 

ΔG∘ E ∘

−ve and + ve

+ve

+ve and + ve

−ve and − ve

https://dl.doubtnut.com/l/_obm5w1SqXxUe
https://dl.doubtnut.com/l/_w0pM0Fl6UIlr


Answer:

Watch Video Solution

25. The conjugate acid of  is:

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

HPO
2 −
4

H3PO3

H3PO4

H2PO
−
4

PO
3 −
4

https://dl.doubtnut.com/l/_w0pM0Fl6UIlr
https://dl.doubtnut.com/l/_c8hAqq8YK21Q


26. The polymer formed by the condensation of

hexamethylenediamine and adipic acid is :

A. Teflon

B. Bakelite

C. Dacron

D. Nylon-66

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_UA27KoKx5aW1


27. Answer the following questions : 

Why the freezing point depression ( ) of 0.4M

NaCl solution is nearly twice than that of 0.4M

glucose solution ?

Watch Video Solution

ΔTf

28. Identify the order of reaction from each of the

following units of rate constant (k) :

 (b) 

Watch Video Solution

(a)moleL− 1 sec− 1 Mol− 1 sec− 1

https://dl.doubtnut.com/l/_AkmZNpCaG2p2
https://dl.doubtnut.com/l/_V1OJudaBwumV


29. Specific conductivity of 0.20 M solution of KCl at

298 K is . Calculate its molar conductivity.

Watch Video Solution

0.025Scm− 1

30. Name the order of reaction which proceeds with a

uniform rate throughout.

Watch Video Solution

31. What are the products formed when phenol and

nitrobenzene are treated separately with a mixture of

https://dl.doubtnut.com/l/_lm6A991AEBnY
https://dl.doubtnut.com/l/_OXkB5TW5w38X
https://dl.doubtnut.com/l/_cHsw7Ia7IyBY


Part Ii Section A

concentrated sulphuric acid and concentrated nitric

acid ?

Watch Video Solution

1. Determine the freezing point of a solution

containing 0.625 g of glucose ( ) dissolved in

102.8 g of water. 

(Freezing point of water = 273 K,  for water = 1.87 K

kg  at. wt. C = 12, H = 1, O = 16)

Watch Video Solution

C6H12O6

Kl

mol − 1

https://dl.doubtnut.com/l/_cHsw7Ia7IyBY
https://dl.doubtnut.com/l/_iJWIBdfyoWfR


2. A 0.15 M aqueous solution of KCl exerts an osmotic

pressure of 6.8 atm at 310 K. Calculate the degree of

dissociation of KCl. (R = 0.0821 Lit. atm ).

Watch Video Solution

K − 1mol − 1

3. A solution containing 8.44 g of sucrose in 100 g of

water has a vapour pressure 4.56 mm of Hg at 273K. If

the vapour pressure of pure water is 4.58 mm of Hg at

the same temperature, calculate the molecular weight

of sucrose.

Watch Video Solution

https://dl.doubtnut.com/l/_TSQNS6FulmiU
https://dl.doubtnut.com/l/_iFREyC1KUrZI
https://dl.doubtnut.com/l/_cCOMLjcZK38v


4. When ammonium chloride and ammonium

hydroxide are added to a solution containing both

 and  ions, which ion is precipitated first

and why ?

Watch Video Solution

Al3 + Ca2 +

5. A solution of potassium chloride has no effect on

litmus whereas, a solution of zinc chloride turns the

blue litmus red. Give a reason.

Watch Video Solution

https://dl.doubtnut.com/l/_cCOMLjcZK38v
https://dl.doubtnut.com/l/_K4ToN9Wvd7vG


6. How many sodium ions and chloride ions are

present in a unit cell of sodium chloride ?

Watch Video Solution

7. Lead sulphide has face centred cubic crystal

structure. If the edge length of the unit cell of lead

sulphide is 495 pm, calculate the density of the crystal.

(at. Wt. Pb =207, S=32)

Watch Video Solution

8. Calculate the molecular mass of water.

https://dl.doubtnut.com/l/_pbMFrEI8o7S8
https://dl.doubtnut.com/l/_JqRWU03Fajwq
https://dl.doubtnut.com/l/_4z22dGy2vqb6


Watch Video Solution

9. The following electrochemical cell is set up at 298 K:

 


Given: 

(1) Write the cell reaction. 

(2) Calculate the emf and free energy change at 298 K

Watch Video Solution

Zn/Zn2 + (aq)(1M) ∣ ∣ Cu2 + (aq)(1M) /Cu

E ∘Zn2 + /Zn = − 0.761V , E ∘Cu2 + /Cu = + 0.339V

10. (ii) Answer the following: 

(1) What is the effect of temperature on ionic product

https://dl.doubtnut.com/l/_4z22dGy2vqb6
https://dl.doubtnut.com/l/_JizIshRrriZ9
https://dl.doubtnut.com/l/_RiqK6lMPRPKg


of water (Kw) ? 

(2) What happens to the ionic product of water (Kw) if

some acid is added to it ?

Watch Video Solution

11. Frenkel defect does not change the density of the

ionic crystal whereas, Schottky defect lowers the

density of ionic crystal. Give a reason.

Watch Video Solution

12. Name the law or principle to which the following

observations conform : 

https://dl.doubtnut.com/l/_RiqK6lMPRPKg
https://dl.doubtnut.com/l/_jBz4f2Wio5gb
https://dl.doubtnut.com/l/_JfwWNqzPrfY5


(1) When water is added to a 1.0 M aqueous solution

of acetic acid, the number of hydrogen ion ( )

increases. 

(2) When 9650 coulombs of electricity is passed

through a solution of copper sulphate, 3.175 g of

copper is deposited on the cathode.(at. wt. of Cu =

63.5). 

(3) When ammonium chloride is added to a solution

of ammonium hydroxide, the concentration of

hydroxyl ions decreases.

Watch Video Solution

H +

https://dl.doubtnut.com/l/_JfwWNqzPrfY5


13. What is the difference between the order of a

reaction and its molecularity ?

Watch Video Solution

14. Explain why high pressure is required in" the

manufacture of sulphur trioxide by contact process. 

State the law or principle used.

Watch Video Solution

15. Calculate the equilibrium constant (K) for the

formation of NH^ in the following reaction: `N_2(g) +

https://dl.doubtnut.com/l/_bU5JBQjOk9d6
https://dl.doubtnut.com/l/_IOaY87jplW9A
https://dl.doubtnut.com/l/_RfMM9zCu40ac


3H_2(g) At equilibrium, the concentration of , 

and  are  and  M

respectively.

Watch Video Solution

NH3 H2

N2 1.2 × 10− 2, 3.0 × 10− 2 1.5 × 10− 2

16. Explain the following: Hydrolysis of ester (ethyl

acetate) begins slowly but becomes fast after

sometime.

Watch Video Solution

17. Assertion : The pH of an aqueous solution of acetic

acid remains unchanged on addition of sodium

https://dl.doubtnut.com/l/_RfMM9zCu40ac
https://dl.doubtnut.com/l/_19pX7aHwo0oT
https://dl.doubtnut.com/l/_RHp3cno8QmFf


acetate. 

Reason : The ionization of acetic acid is increased by

addition of sodium acetate.

Watch Video Solution

18. Determine the freezing point of a solution

containing 0.625 g of glucose ( ) dissolved in

102.8 g of water. 

(Freezing point of water = 273 K,  for water = 1.87 K

kg  at. wt. C = 12, H = 1, O = 16)

Watch Video Solution

C6H12O6

Kl

mol − 1

https://dl.doubtnut.com/l/_RHp3cno8QmFf
https://dl.doubtnut.com/l/_7Cxtxr1TaKe3


19. A 0.15 M aqueous solution of KCl exerts an osmotic

pressure of 6.8 atm at 310 K. Calculate the degree of

dissociation of KCl. (R = 0.0821 Lit. atm ).

Watch Video Solution

K − 1mol − 1

20. A solution containing 8.44 g of sucrose in 100 g of

water has a vapour pressure 4.56 mm of Hg at 273K. If

the vapour pressure of pure water is 4.58 mm of Hg at

the same temperature, calculate the molecular weight

of sucrose.

Watch Video Solution

https://dl.doubtnut.com/l/_23zaCA2onUIZ
https://dl.doubtnut.com/l/_I4VQMAPkDAst
https://dl.doubtnut.com/l/_Hw8RTg48aYV5


21. When ammonium chloride and ammonium

hydroxide are added to a solution containing both

 and  ions, which ion is precipitated first

and why ?

Watch Video Solution

Al3 + Ca2 +

22. A solution of potassium chloride has no effect on

litmus whereas, a solution of zinc chloride turns the

blue litmus red. Give a reason.

Watch Video Solution

https://dl.doubtnut.com/l/_Hw8RTg48aYV5
https://dl.doubtnut.com/l/_I6wAtQqU2BqS


23. How many sodium ions and chloride ions are

present in a unit cell of sodium chloride ?

Watch Video Solution

24. Lead sulphide has face centred cubic crystal

structure. If the edge length of the unit cell of lead

sulphide is 495 pm, calculate the density of the crystal.

(at. Wt. Pb =207, S=32)

Watch Video Solution

https://dl.doubtnut.com/l/_KTcTTfkkokkf
https://dl.doubtnut.com/l/_LU4rgOn0EduG


25. The following electrochemical cell is set up at 298

K: 

 


Given: 

(1) Write the cell reaction. 

(2) Calculate the emf and free energy change at 298 K

Watch Video Solution

Zn/Zn2 + (aq)(1M) ∣ ∣ Cu2 + (aq)(1M) /Cu

E ∘Zn2 + /Zn = − 0.761V , E ∘Cu2 + /Cu = + 0.339V

26. (ii) Answer the following: 

(1) What is the effect of temperature on ionic product

of water (Kw) ? 

https://dl.doubtnut.com/l/_TGlKwTmCuiHy
https://dl.doubtnut.com/l/_BHLE7C6Mikav


(2) What happens to the ionic product of water (Kw) if

some acid is added to it ?

Watch Video Solution

27. Frenkel defect does not change the density of the

ionic crystal whereas, Schottky defect lowers the

density of ionic crystal. Give a reason.

Watch Video Solution

28. Name the law or principle to which the following

observations conform : 

(1) When water is added to a 1.0 M aqueous solution

https://dl.doubtnut.com/l/_BHLE7C6Mikav
https://dl.doubtnut.com/l/_Eylhf2XliyJ5
https://dl.doubtnut.com/l/_5ZsWiUX18nEc


of acetic acid, the number of hydrogen ion ( )

increases. 

(2) When 9650 coulombs of electricity is passed

through a solution of copper sulphate, 3.175 g of

copper is deposited on the cathode.(at. wt. of Cu =

63.5). 

(3) When ammonium chloride is added to a solution

of ammonium hydroxide, the concentration of

hydroxyl ions decreases.

Watch Video Solution

H +

29. What is the difference between the order of a

reaction and its molecularity ?

https://dl.doubtnut.com/l/_5ZsWiUX18nEc
https://dl.doubtnut.com/l/_dnig8KLHESPD


Watch Video Solution

30. Explain why high pressure is required in" the

manufacture of sulphur trioxide by contact process. 

State the law or principle used.

Watch Video Solution

31. Calculate the equilibrium constant (K) for the

formation of NH^ in the following reaction: `N_2(g) +

3H_2(g) At equilibrium, the concentration of , 

and  are  and  M

respectively.

W h Vid S l i

NH3 H2

N2 1.2 × 10− 2, 3.0 × 10− 2 1.5 × 10− 2

https://dl.doubtnut.com/l/_dnig8KLHESPD
https://dl.doubtnut.com/l/_L8R4xD4ReMJH
https://dl.doubtnut.com/l/_uJ7L6RA1h5be


Watch Video Solution

32. Explain the following: Hydrolysis of ester (ethyl

acetate) begins slowly but becomes fast after

sometime.

Watch Video Solution

33. Assertion : The pH of an aqueous solution of acetic

acid remains unchanged on addition of sodium

acetate. 

Reason : The ionization of acetic acid is increased by

addition of sodium acetate.

Watch Video Solution

https://dl.doubtnut.com/l/_uJ7L6RA1h5be
https://dl.doubtnut.com/l/_uzc8Ls8KHueR
https://dl.doubtnut.com/l/_C4wqJsIaopyv


Part Ii Section B

Watch Video Solution

1. Write the formula of the following compounds : 

Potassium trioxalatoaluminate (III).

Watch Video Solution

2. Write the formula of the following compounds : 

Hexaaquairon (II) sulphate.

Watch Video Solution

https://dl.doubtnut.com/l/_C4wqJsIaopyv
https://dl.doubtnut.com/l/_QwPKXSvmcEiR
https://dl.doubtnut.com/l/_H2LejyPOPqgr
https://dl.doubtnut.com/l/_iwWLlovz7Wn9


3. Name the types of isomerism shown by the

following pairs of compounds : 

Watch Video Solution

[Cu(NH3)4][Pt(Cl)4] and [Pt(NH3)4][CuCl4]

4. The anhydride of nitric acid is:

Watch Video Solution

5. For the coordination complex ion  


Give the IUPAC name of the complex ion.

Watch Video Solution

[Co(NH3)6]
3 +

https://dl.doubtnut.com/l/_iwWLlovz7Wn9
https://dl.doubtnut.com/l/_Z2Kjf2ZY1ftz
https://dl.doubtnut.com/l/_f9q8H6eekotX


6. For the coordination complex ion . 

What is the oxidation number of cobalt in the

complex ion?

Watch Video Solution

[Co(NH3)6]
3 +

7. For the complex ion of  


State the hybridization of the complex.

Watch Video Solution

[Co(NH3)6]
3 +

8. For the complex ion of  : 

State the magnetic nature of the complex.

[Co(NH3)6]
3 +

https://dl.doubtnut.com/l/_n5yRbvKtLLLT
https://dl.doubtnut.com/l/_Es3e0O0WQGaz
https://dl.doubtnut.com/l/_KQ6kefeXjjCr


Watch Video Solution

9. Give balanced equations for the following reactions

: 

Potassium permanganate is heated with concentrated

hydrochloric acid.

Watch Video Solution

10. Give balanced equations for the following

reactions : 

Lead sulphide is heated with hydrogen peroxide.

Watch Video Solution

https://dl.doubtnut.com/l/_KQ6kefeXjjCr
https://dl.doubtnut.com/l/_qupP4bbR4PYq
https://dl.doubtnut.com/l/_srrY6PnRefHg


11. Give balanced equations for the following reactions

: 

Ozone is treated with potassium iodide solution.

Watch Video Solution

12. Write all the chemical reactions involved in the

manufacture of sulphuric acid by contact process. 

Watch Video Solution

https://dl.doubtnut.com/l/_srrY6PnRefHg
https://dl.doubtnut.com/l/_XuNL0L9yc0d3
https://dl.doubtnut.com/l/_uKQQgXBuYg3T


13. (i) What are the types of hybridization of iodine in

interhalogen compounds  and ,

respectively ? 

(ii) Draw the structure of xenon hexafluoride 

molecule and state the hybridization of the central

atom.

Watch Video Solution

IF3, IF3 IF7

(XeF6)

14. Draw the structure of xenon hexaluoride 

molecule and state the hybridisation of the central

atom.

Watch Video Solution

(XeF6)

https://dl.doubtnut.com/l/_1zONEAVFF9M6
https://dl.doubtnut.com/l/_AXIZuPkDJ6Kf


15. Give the equations for the conversion of argentite

 to metallic silver.

Watch Video Solution

(Ag2S)

16. How can the following conversions be brought

about : 

Acetaldehyde to propan-2-ol.

Watch Video Solution

https://dl.doubtnut.com/l/_AXIZuPkDJ6Kf
https://dl.doubtnut.com/l/_3ESKUnMVNaq8
https://dl.doubtnut.com/l/_FcSpSA39Qa3m


17. How can the following conversions be brought

about : 

Nitrobenzene to p-aminoazobenzene

Watch Video Solution

18. How can the following conversions be brought

about : 

Acetic acid to methylamine.

Watch Video Solution

https://dl.doubtnut.com/l/_izHphoFJ4V8c
https://dl.doubtnut.com/l/_rJrVQGmYCiaR


19. How can the following conversions be brought

about : 

Aniline to benzene.

Watch Video Solution

20. How will you distinguish between primary,

secondary and tertiary amines ?

Watch Video Solution

21. Why do alcohols passess higher boiling points as

compared to those of corresponding alkanes ?

https://dl.doubtnut.com/l/_f1xjJSkjqm20
https://dl.doubtnut.com/l/_9udRS4cg4Fzn
https://dl.doubtnut.com/l/_Ai1F9vZA7vAT


Watch Video Solution

22. Identify the compounds A, B and C: 

Watch Video Solution

C6H5COOH
PCl5
−−→ A

H2 −pd/BaSO4

−−−−−−−−−→ B
KCNalc
−−−−→
Distilled

C

23. Identify the compounds A, B and C: 

Watch Video Solution

H − C ≡ C − H
H2O

−−−−−−−−−−−→
dil .H2SO4 +HgSO4

A
H2

−−→
[Ni ]

B
140 ∘C

−−−−−−−→
cons H2SO4

C

https://dl.doubtnut.com/l/_Ai1F9vZA7vAT
https://dl.doubtnut.com/l/_L8jaxNaDOgYL
https://dl.doubtnut.com/l/_2XJ8jkoRmkzg


24. Give balanced equations for the following name

reactions : 

Friedel-Crafts reaction (alkylation)

Watch Video Solution

25. Write chemical equations to illustrate the

following name reactions : 

Williamson's synthesis

Watch Video Solution

https://dl.doubtnut.com/l/_Bd0bLEgnwqqN
https://dl.doubtnut.com/l/_4F8RCz4VTiUW


26. Give balanced equations for the following name

reactions : 

Aldol condensation.

Watch Video Solution

27. Give chemical test to distinguish : ethyl alcohol

and sec - propyl alcohol.

Watch Video Solution

28. Give chemical test to distinguish : 

Acetaldehyde and acetic acid.

https://dl.doubtnut.com/l/_R1cGNVVQQv6l
https://dl.doubtnut.com/l/_c58yoohu5SQw
https://dl.doubtnut.com/l/_B8Q3N75kzOU4


Watch Video Solution

29. Deficiency of which vitamin causes the following

diseases : 

(1) Scurvy 

(2) Night blindness.

Watch Video Solution

30. State two main differences between globular and

fibrous proteins.

Watch Video Solution

https://dl.doubtnut.com/l/_B8Q3N75kzOU4
https://dl.doubtnut.com/l/_bo5p2gUZZ5Ch
https://dl.doubtnut.com/l/_mJ2VPhEwbaPI
https://dl.doubtnut.com/l/_Kw82okcxS7gF


31. An aliphatic unsaturated hydrocarbon (A) when

treated with  yields a compound (B)

having molecular formula . (B) on oxidation

with concentrated  gives two compounds ( C )

and (D). Compound (C ) when treated with  gives

compound (E ). (E ) when reacts with ethanol gives a

sweet smelling liquid (F). Compound (F) is also formed

when (C ) reacts with ethanol in the presence of

concentrated . 


(i) Identify the compound A, B, C, D, E and F. 

(ii) Give the chemical equation for the reaction of ( C )

with chlorine in the presence of red phosphorus and

name the reaction.

Watch Video Solution

HgSO4 /H2SO4

C3H6O

HNO3

PCl5

H2SO4

https://dl.doubtnut.com/l/_Kw82okcxS7gF


32. An aliphatic unsaturated hydrocarbon (A) when

treated with  yields a compound (B)

having molecular formula . (B) on oxidation

with concentrated  gives two compounds ( C )

and (D). Compound (C ) when treated with  gives

compound (E ). (E ) when reacts with ethanol gives a

sweet smelling liquid (F). Compound (F) is also formed

when (C ) reacts with ethanol in the presence of

concentrated . 


(i) Identify the compound A, B, C, D, E and F. 

(ii) Give the chemical equation for the reaction of ( C )

with chlorine in the presence of red phosphorus and

name the reaction.

HgSO4 /H2SO4

C3H6O

HNO3

PCl5

H2SO4

https://dl.doubtnut.com/l/_Kw82okcxS7gF
https://dl.doubtnut.com/l/_pOHlu7bFQJmf


Watch Video Solution

33. What is the common name of the polymer

obtained by the polymerisation of caprolactam? Is it

addition polymer or condensation polymer?

Watch Video Solution

34. Name the two organic compounds which have the

same molecular formula . Will they react with 

? If they react, what are the products formed ?

Watch Video Solution

C2H6O

PCl5

https://dl.doubtnut.com/l/_pOHlu7bFQJmf
https://dl.doubtnut.com/l/_ik91sa4yO505
https://dl.doubtnut.com/l/_w9F9oUdqCEh2
https://dl.doubtnut.com/l/_8iB05eUu5jc7


35. Give balanced equations for the following

reactions : 

Methyl magnesium bromide with ethyl alcohol.

Watch Video Solution

36. Give balanced equations for the following

reactions : 

Acetic anhydride with phosphorous pentachloride.

Watch Video Solution

https://dl.doubtnut.com/l/_8iB05eUu5jc7
https://dl.doubtnut.com/l/_twuCYNPEowoq


37. Give balanced equations for the following

reactions : 

Acetaldehyde with hydroxylamine.

Watch Video Solution

38. Write the formula of the following compounds : 

Potassium trioxalatoaluminate (III).

Watch Video Solution

39. Write the formula of the following compounds : 

Hexaaquairon (II) sulphate.

https://dl.doubtnut.com/l/_RajsrbOezRmD
https://dl.doubtnut.com/l/_HNLHZzkUdNWI
https://dl.doubtnut.com/l/_kGwr0cUDpy9o


Watch Video Solution

40. Name the types of isomerism shown by the

following pairs of compounds : 

(i)  and  


(ii)  and 

Watch Video Solution

[Cu(NH3)4][PtCl4] [Pt(NH3)4][CuCl4]

[Co(en)2Cl2]
+

[Co(en)2Cl2]
+

41. Name the types of isomerism shown by the

following pairs of compounds : 

Watch Video Solution

[Co(Pn)2Cl2]
+

and [Co(tn)2Cl2]
+

https://dl.doubtnut.com/l/_kGwr0cUDpy9o
https://dl.doubtnut.com/l/_yiXwqBxdHRoG
https://dl.doubtnut.com/l/_f9YbJ55zn2Dq


42. For the coordination complex ion  


Give the IUPAC name of the complex ion.

Watch Video Solution

[Co(NH3)6]
3 +

43. For the coordination complex ion . 

What is the oxidation number of cobalt in the

complex ion?

Watch Video Solution

[Co(NH3)6]
3 +

https://dl.doubtnut.com/l/_f9YbJ55zn2Dq
https://dl.doubtnut.com/l/_EOosE9ESJon3
https://dl.doubtnut.com/l/_fsYI99rOshie


44. For the complex ion of  


State the hybridization of the complex.

Watch Video Solution

[Co(NH3)6]
3 +

45. For the complex ion of  : 

State the magnetic nature of the complex.

Watch Video Solution

[Co(NH3)6]
3 +

46. Give balanced equations for the following

reactions : 

https://dl.doubtnut.com/l/_0hs4MjG8UmbK
https://dl.doubtnut.com/l/_u63rmBiaiQxO
https://dl.doubtnut.com/l/_vWypVgDhobLP


Potassium permanganate is heated with concentrated

hydrochloric acid.

Watch Video Solution

47. Give balanced equations for the following

reactions : 

Lead sulphide is heated with hydrogen peroxide.

Watch Video Solution

48. Give balanced equations for the following

reactions : 

Ozone is treated with potassium iodide solution.

https://dl.doubtnut.com/l/_vWypVgDhobLP
https://dl.doubtnut.com/l/_hVq8vzXdJs60
https://dl.doubtnut.com/l/_B78R6GuSOdL6


Watch Video Solution

49. Give names of water soluble vitamins

Watch Video Solution

50. (i) What are the types of hybridization of iodine in

interhalogen compounds  and ,

respectively ? 

(ii) Draw the structure of xenon hexafluoride 

molecule and state the hybridization of the central

atom.

Watch Video Solution

IF3, IF3 IF7

(XeF6)

https://dl.doubtnut.com/l/_B78R6GuSOdL6
https://dl.doubtnut.com/l/_lwNhxRuhcBRg
https://dl.doubtnut.com/l/_nXi3f2x5yrsx


51. (i) What are the types of hybridization of iodine in

interhalogen compounds  and ,

respectively ? 

(ii) Draw the structure of xenon hexafluoride 

molecule and state the hybridization of the central

atom.

Watch Video Solution

IF3, IF3 IF7

(XeF6)

52. Give the equations for the conversion of argentite

 to metallic silver.

Watch Video Solution

(Ag2S)

https://dl.doubtnut.com/l/_nXi3f2x5yrsx
https://dl.doubtnut.com/l/_TRZQP2aM3c7e
https://dl.doubtnut.com/l/_ZkWEqYX7xzdU


53. How can the following conversions be brought

about : 

Acetaldehyde to propan-2-ol.

Watch Video Solution

54. How can the following conversions be brought

about : 

Nitrobenzene to p-aminoazobenzene

Watch Video Solution

https://dl.doubtnut.com/l/_ZkWEqYX7xzdU
https://dl.doubtnut.com/l/_KY2XZDHrhML8
https://dl.doubtnut.com/l/_JiBMj0YTkX0S


55. How can the following conversions be brought

about : 

Acetic acid to methylamine,

Watch Video Solution

56. Which is other name for cobalamin.

Watch Video Solution

57. How will you distinguish between primary,

secondary and tertiary amines ?

Watch Video Solution

https://dl.doubtnut.com/l/_DP6uDn4oBacP
https://dl.doubtnut.com/l/_iecTMTsfzziG
https://dl.doubtnut.com/l/_NjQqJlGCLed4


58. Why do alcohols passess higher boiling points as

compared to those of corresponding alkanes ?

Watch Video Solution

59. Identify the compounds A, B and C: 

Watch Video Solution

C6H5COOH
PCl5
−−→ A

H2 −pd/BaSO4

−−−−−−−−−→ B
KCNalc
−−−−→
Distilled

C

60. Identify the compounds A, B and C : 

(i)  
C6H5COOH
PCl5
−−→ A

H2 −Pd/BaSO4

−−−−−−−−−→ B
KCN alc
−−−−→

distil
C

https://dl.doubtnut.com/l/_NjQqJlGCLed4
https://dl.doubtnut.com/l/_aA3fegUGgh6C
https://dl.doubtnut.com/l/_5aHHYaRCJ0sU
https://dl.doubtnut.com/l/_FYnRG41qVysU


(ii) 

Watch Video Solution

H − C ≡ C − H
H2O

−−−−−−−−−−−−→
 dil H2SO4 +HgSO4

A
H2

−−→
Ni

B
140 ∘C

−−−−−−→
concH2SO4

C

61. Gives names of water and fat soluble vitamins.

Watch Video Solution

62. Write chemical equations to illustrate the

following name reactions : 

Williamson's synthesis

Watch Video Solution

https://dl.doubtnut.com/l/_FYnRG41qVysU
https://dl.doubtnut.com/l/_GUOG0Llp4rKm
https://dl.doubtnut.com/l/_9jaUYZIZGs0I


63. Give balanced equations for the following name

reactions : 

Aldol condensation.

Watch Video Solution

64. Give chemical test to distinguish : ethyl alcohol

and sec - propyl alcohol.

Watch Video Solution

65. Give names of fat soluble vitamins

Watch Video Solution

https://dl.doubtnut.com/l/_TDjXCt2ojRBB
https://dl.doubtnut.com/l/_4aGV4UNCFzNJ
https://dl.doubtnut.com/l/_v8CtrwzbZfbh


66. Deficiency of which vitamin causes the following

diseases : 

(1) Scurvy 

(2) Night blindness.

Watch Video Solution

67. State two main differences between globular and

fibrous proteins.

Watch Video Solution

https://dl.doubtnut.com/l/_v8CtrwzbZfbh
https://dl.doubtnut.com/l/_C5UpEomtNHYW
https://dl.doubtnut.com/l/_ND5rfygVS05B


68. An aliphatic unsaturated hydrocarbon (A) when

treated with  yields a compound (B)

having molecular formula . (B) on oxidation

with concentrated  gives two compounds ( C )

and (D). Compound (C ) when treated with  gives

compound (E ). (E ) when reacts with ethanol gives a

sweet smelling liquid (F). Compound (F) is also formed

when (C ) reacts with ethanol in the presence of

concentrated . 


(i) Identify the compound A, B, C, D, E and F. 

(ii) Give the chemical equation for the reaction of ( C )

with chlorine in the presence of red phosphorus and

name the reaction.

Watch Video Solution

HgSO4 /H2SO4

C3H6O

HNO3

PCl5

H2SO4

https://dl.doubtnut.com/l/_7nYE2mnAZahI


69. An aliphatic unsaturated hydrocarbon (A) when

treated with  yields a compound (B)

having molecular formula . (B) on oxidation

with concentrated  gives two compounds ( C )

and (D). Compound (C ) when treated with  gives

compound (E ). (E ) when reacts with ethanol gives a

sweet smelling liquid (F). Compound (F) is also formed

when (C ) reacts with ethanol in the presence of

concentrated . 


(i) Identify the compound A, B, C, D, E and F. 

(ii) Give the chemical equation for the reaction of ( C )

HgSO4 /H2SO4

C3H6O

HNO3

PCl5

H2SO4

https://dl.doubtnut.com/l/_7nYE2mnAZahI
https://dl.doubtnut.com/l/_ZBb9syaMa8oR


with chlorine in the presence of red phosphorus and

name the reaction.

Watch Video Solution

70. What is the common name of the polymer

obtained by the polymerisation of caprolactam? Is it

addition polymer or condensation polymer?

Watch Video Solution

71. Name the two organic compounds which have the

same molecular formula . Will they react with 

? If they react, what are the products formed ?

C2H6O

PCl5

https://dl.doubtnut.com/l/_ZBb9syaMa8oR
https://dl.doubtnut.com/l/_f1OIn2yuvZYA
https://dl.doubtnut.com/l/_HSafeSISL4lD


Watch Video Solution

72. Give balanced equations for the following

reactions : 

Methyl magnesium bromide with ethyl alcohol.

Watch Video Solution

73. Give balanced equations for the following

reactions : 

Acetic acid reacts with phosphorus pentachloride.

Watch Video Solution

https://dl.doubtnut.com/l/_HSafeSISL4lD
https://dl.doubtnut.com/l/_VPJl58BrvVzz
https://dl.doubtnut.com/l/_cnmHo0KQYr1M
https://dl.doubtnut.com/l/_Hpq1UpK5Xm5G


74. Give balanced equations for the following

reactions : 

Acetaldehyde with hydroxylamine.

Watch Video Solution

https://dl.doubtnut.com/l/_Hpq1UpK5Xm5G

